H & 0l & AHS B Ml A

Ee]
A AY2I (LSS /L)
TS HOAMY (St &)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
EE 2,965,563 2,592,917 372,646
A A2 (L SSHY/LEHEE) 2,073,427 1,703,827 369,600
FRIME HAOALY 394,600 151,600 243,000
TR AOALY 381,000 138,000 243,000
401 AlZHIZ SO 366,000 138,000 228,000
01 AlZHI 366,000 138,000 228,000
OgFae|dy F=HXS FXAANG (22
) 22,000,000& %100 2 22,000 0 22,000
Ox=&d =Xl 2
30,000,000 13| 30,000 0 30,000
OZXEH 20 & EXI3A
22,000,000& 22,000 0 22,000
OxkdH 87 & EX3A
22,000,000 22,000 0 22,000
OZXEH 4 & EXZA
22,000,000 22,000 0 22,000
OSHEE UEgd EXIAY
20,000,000 * 190 2 20,000 0 20,000
O QI§HIAI& EXIAS(2=F)
38 02 0 22,000 A22,000
OxkH 85 & EXI3A
22,000,000 22,000 0 22,000
OZXEH S70I2 & A X EXNAY
30,000,000 30,000 0 30,000
OXTH JIMEDE & 21 21X XAt
30,000,000 30,000 0 30,000
OZXEH S80S & AL X XA
30,000,000& 30,000 0 30,000
405 AtatE = 15,000 0 15,000
01 M ESFH SHI 15,000 0 15,000
OYAIRA HMEHEs 2SI+
15,000,000& 15,000 0 15,000
G HEEAIXH 909,576 857,576 52,000
e MESHHIH 197,865 145,865 52,000
201 =3 166,865 142,865 24,000
01 At22tell 122,820 98.820 24,000
O8XIS X HOold HMeld
800,000 *30= 24,000 0 24,000
401 AlZHIZ20HY] 28,000 0 28,000
01 AlZHI 28,000 0 28,000
OJIAE YRIEDIZ Hel =22
10,000,000& *13] 10,000 0 10,000
OJtE dEHIIE 8% CTV £X
3,000,000 *6IH A 18,000 0 18,000
=0l EMots AXIEE 769,251 694,651 74,600
ot =l 653,071 578,471 74,600




SN XEo
I RLH dY¥2g(Lussdy/eey)
ctes =210 Slots AXIEE (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
201 Let=dh] 260,980 240,980 20,000
03 Ar=EHI 20,000 0 20,000
OM178] 25 oIt M KAl
20,000,000 13 20,000 0 20,000
301 LetEAZ 248,591 193,991 54,600
07 & - 01 - tdeEs2d= 241,770 187,170 54,600
oolzgs 2d= 237,120 182,520 54,600
—JlEse
3E 400,0003+30F* 1201 2 187,200 140,400 46,800
—d0= & 400,000 %390 23] 31,200 23,400 7,800
AH2AZYI(ZEH)(OIEHIIE) 477,087 474,041 3,046
IR 2] 90,709 87,663 3,046
eI 2| 90,709 87,663 3,046
101 2124 90,709 87,663 3,046
01 2= 90,709 87,663 3,046
OZXEH AlZte 22 90,709 87,663 3,046
—2ety 90,709 87,663 3,046
6=
BE 12,8442 x10=25A1 21200 38,532 37,593 939
=
& 11,6023 +8B«25A 212012 27,845 23,770 4,075
8=
BE 10,416 x4 +2BA 21200 & 12,500 6,098 6,402
9=
BE 9,860 A +2BA 2120 S 11,832 20,202 28,370




